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5 Wirite short answers of any six parts from ihe following: (246=12) S feun L;zl.g.;,@fgfg,tjw 2

i, Find e values of ‘¢ ang 'd' & lc - ] i E 31
5 44-3 2d:
i..  Give 2 rational rumber batween % and-.
i, Simpilfy the radical expression: ¥ r:;j
7
iv. Evaluate. e
Lagz 1q
v.  Calculate: Logas x Log;81

g=-1,y==22=4

(5 + VB).

Mg’ 4 2o+

Vi Eyauate 92y
X
vii, Simpliy.
vil  Factorizc:
5 Use the remainder theorem to find the femaindar when 6t e 122% 4 11x -
5 is divided by (x — 3). T,

3. irite short answers of any six parts from the foliowing: (2A6=12)

i Findthe H.CFof the expresaion: 39x"y3z and 91x” }"
il Solve for x: I3x = 5| =4
i3 fon: % 1
i, Solve lhe squation: e _XI =; £ %
W, Draw the graon of te eguation x=-6
v. Findthe value of mand c of th fines expressing i m=-3y=1

theformofy = mx + <.
v Find the distance between the pair of points .- 4(9,2),B(7.2)

vi.  Find midpoint of the line segment joining pairs A(-9,3), B(7.3}
of points:

J4i  Define congrucnt triangles.

. Defing paralielogram.

4 Virite short answers of any six parts from the following: (26=12)
i, Where the right biseclars of the sices-of an obtuse triangle

intersect each oihei?
i, Canthe given set of Ienglhs be the nglhs of 2cm, dem, 7em
ine sides of a inangle?
il Define praportion.
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V. Find unlmown value of x: ~ i dfxpee N
LE |
2en
v,  lu=9cn b =12cm,c = 15cm then verffy that the S Y dIne = 15emeb = 120me = 9emSi ¥
inangle having these measures of sides s righl angled. T
R WD (%
v, Whatls friangular region™ ) tetnf s M
vii.  Find the arez: e : _ whews M
Lem
vii  Cefing point of concurency? o NPT Y il
ix.  Constructatiangie XYZ nwhich:  m¥Z = 7.6 cm,mf? =61 cmandmix = 96" B C pfuxyzes X
Sectiondl ; (Bx3=24). 7
Note:  Atiempt any three questions in all white Q.No 8 is compulsory: . Y +dﬂjg J.J,Ji,— _ﬁ[,‘_&f...yl.e CeirdS s
5{z) Solveby using Cramers rue: - 2x <3y W, : T S eandam LS (WS
y Ax'=2y = =1 -
(o) Simpkfy: B 4 BLP.F - (3)"(243) i wSE ()
i (9)(3)*

6(a] Use logiiim 'h:l find the value of: © DBI76 %1364 . . - e desaiy l‘?’g ()6
() Nx4y+z=14andx? +y +2° = 741her|rﬂdlhe Xy 4 yz How? )7+ 20 = Thax+y +2= 140 (o]
value olxy + yz + 2% : oS

o P S DL
7(a) Factorize; i 4yt =yt =2y~ iF ()T
{b)  Find hhe value of K for whicit fne giver TR AP 10— kX + 9 gl S HTGE LA e ()
expression will become a perfect sguare: =
8(a) Soivethe folowing equalions: - |_:i_ .. 2 Aot (M)
L 4] 378 .
(b} C[]!'lBI_mCt&PQR and @fiw their elfitudes. -«g‘(ﬁﬁjgu‘eéw’?ﬂ‘éﬁ?oah‘;' {.u)
mPQ = 4.5cm, mQR =39cm, mR =45 mPG = 45cm, mQR = 3.9cm, meR =45
g Prove that *The right bisectors of the sides of a tiangle are concurent”. L g L ‘_-.,;.L(""Q St ¢
OR Y
Prove that “iriangles on the same base and of same {L.e equal) ik ‘;mwg,;u{5_-!.1:yl.a.-l;,,',»rgi,n{wﬁ‘;ﬁ.J.:Li:;,e.jv:,{r'qf..-qf
altituaes are equal in area”. :
s
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